N = 0 &8 AF S & Al A
2000 &= =20l & LEgH|
AN A8 uNS
Mz HEMHH(2ELXN MY /XNASL Al
Tl POl MEEH A (cro): xig
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
A& NE 31,861,439 23,148,626 8,712,813
= 200,000
iy 16,922,000
= 614,309
iy 14,125,130
HEHH(ZEL XN SEMLY/XNISL Al 825,380 1,111,488 A286,108
= 200,000
iy 625,380
=0l MEEH oA 535,380 619,988 84,608
= 200,000
iy 335,380
MEOIR SAMN 24 57,000 21,000 36,000
206 M= 57,000 21,000 36,000
01 M =Hl 57,000 21,000 36,000
OMEDIR SAMU2E A7 57,000
— 29 A 70,000& xB0IH*105 56,000
— A AR 20,000& *50& 1,000
28 AMR4dEx € 20 7Y 86,310 86,310 0
206 M =4I 41,310 41,310 0
01 MHEHI 41,310 41,310 0
Oogdet Jtgs =48 XM 15,500
—ao 12,500& *500H 6,250
—QOorE D] 18,500 & *500H4 9,250
OAUWE JI2S =& XM 16,900
—8a 32,600& x250 1 8,150
—OrA | 35,000& 2501 8,750
O& XA HHD| 59,400& 1501 8,910
401 AIEHIZL204H] 45,000 45,000 0
01 Al&H| 45,000 45,000 0
OJN=RE AR &X 1500, 0002 *30S 45,000
2s AZHAH AIAE &X 286,000 429,000 A 143,000
= 200,000
iy 86,000




AN HAENSH
HE: ALBE(IELNANL/NALEAI)
£elr 28 MESE oA (298
_ _ MNuE o
SNBSS - MBAY - BES 0 & 24 e {imE=Eh
401 AIEHIZ=0Y] 286,000 429,000 A 143,000
= 200,000
= 86,000
01 Al&HI 284,000 418,000 A 134,000
Oxnzs 8 23 HMOUHAAE XA
143,073& 1,985 & 284,000
= 200,000
[ia 84,000
03 AIZ=204bI 2,000 3,000 21,000
ONZ2sS S & HOAAE XA
286,000,000 *0.6993% 2,000
A4y 2 Jl=2Hl 106,070 83,678 22,392
201 LEHRHH| 77,070 77,178 A 108
01 AtR2teld 31,925 36,125 N4,200
OHRA A8 ==2
60,000& x200E XI+70/100 8,400
O=AEXN 7Y 18,000& 230t A 4,140
O =2 M= 40,000& * 1204 32 1,440
OMEREZ 10,000& *7IH Abx12& 840
OZegd 4258 ¢ 181,750 52 M +1228 10,905
Oz e oz 4
50,000 x6H *4 2] 1,200
OXall & M&E S2II=X 2SI1H Xt
= 250,000 40«5 5,000
02 232944l 45,145 41,053 4,092
Oz=zdE8z INAM &€&
1,290& *500S »23] 1,290
OEzZ&EHIE s BE8= 1,600
S —=PNE=PN, 700,000 = 1CH 700
—= 4 450,000 »2CH 900
O==zdHIE & 282
276,044,000 *32.998/ 1,000 9,109
OS2 FHHIE MR HIIRS
20,000& 122 240
OAIRE BA AIEZ 4,000& 13 &« 123 48
O==23H4l &l 25U
1,400 *4,600 £ =3CH 19,320




2N ALDSD
HH: AL (FELXNANL/NHLTAI)
o9 PO MEBEE A Rk
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES Ofl AF o4 il b o bRz
ON&ZEI(24D]) SNUl 4,723,0002 =204 9,446
OJRS AAROAIAE SHANER
5,500 x620H * 122 4,002
202 o1t 6,500 6,500 0
01 =Uotb 6,500 6,500 0
OB %01t 6,500,0002! 6,500
405 TarE S| 22,500 0 22,500
01 HMUSEFSY] 22,500 0 22,500
O= A 15,000, 0002414 15,000
OY=g HEEH 7Y 1,500, 0002 *5CH 7,500
FoI=RAAY 290,000 491,500 A201,500
FOISAAL (A, HYR) 290,000 491,500 A201,500
401 AlEHILL O 290,000 491,500 A201,500
01 AlZH] 286,969 486,238 199,269
OLES 86, 163
~YWHYR OLAR HEZBA
47,0722 +1,200m 56,487
—HADY TEAZA &X
29,676,002 14! 29,676
O 2=e 104,854
—NMEYR HEE 79, 13524 %600 47,481
—£E01Y B4 4X 428, 65021 %60m 25,719
—QUESY I ALERY HEF
90, 44024 %350 31,654
O suel 95,952
—ATIIE FYR 0AR AN D))
79, 1352 *400m 31,654
—OHE B4z I 304,369 *130m 39,568
~SA0I2 FYR A2 4
24730024 *100m 24,730
03 Al&SCH] 3,031 5,262 A2,231
O 2F8 837
—UH YU AR WER
57,000,000 %0.9/ 100 513
~HEZY BEAZA &
30,000,002 *1.08/ 100 304
O 2=e 1,146




SN HEDED
HE: AU (ZELXANL/XALEAI)
SH9l: OIS AL (5 &2
_ _ MNuE o
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il b o B2
B EPENEE
48,000, 0002 *1.08/ 100 519
—ZE0HY G4 M
26,000, 0002 *1.08/100 281
QARSI HLETF U WEEH
32,000,0002!*1.08/100 346
O R 1,048
— A0S YR OHARGM D))
32,000,0002!*1.08/100 346
—JHY 42 F|
40,000,000 +1.08/ 100 432
—SADS FYR W2 HX
25,000, 00021 +1.08/100 270
SEAE BRA(LBLDE/ER) 4,499,328 3,359,399 1,139,929
= 368,000
2 4,131,328
OlFE TRuel 169,570 389,330 A219,760
HIT2 DESIA ARY 1,090 1,090 0
101 QI24Hl 1,090 1,090 0
10 JIAH2ENS2+ 1,090 1,090 0
OF= DETZA 212
34, 00021 22§ x22 #7991 & 1,090
ALZ2A KU 8,080 5,120 2,960
201 L2yl 8,080 5,120 2,960
03 A2 Y] 8,080 5,120 2,960
ORIgsl LEE ALBLA HFH3| A 8,080
~SUE 7 80,0002 +40% 3,200
—253 7 50,0002 *40% 2,000
— 2| 6,00021 +150% *34! 2,700
—Ea0 M 60, 00030 * 13! 180
CRHHA HAX A 3,200 3,200 0
301 LsrBA3 3,200 3,200 0
10 SAAHIZAS 3,200 3,200 0
OT2HHIY HEX 28t
50,0002 322 x22! 3,200
Mag Har 27,200 32,920 A5,720
206 T2l 27,200 27,200 0




SH: AEDNED
M TZAAE 2el(2sLDE/ER)
CHel: QLM E T2 2te (cte @2
= - bolEN=
N33 . c2(3H) - NEME - HES A oH @;OH Hl =2
01 XZ4 27,200 27,200 0
ON&EE2 M7 20,000
—d5t2s 13,2002 *1,348.45% 17,800
—22H=0H U 20024 *11,0000H 2,200
ON&E Mara(S 20,0002 *360 7,200
2EXT AX 30,000 30,000 0
401 Al&HI L2 HY] 30,000 30,000 0
01 Al&H] 30,000 30,000 0
OS2IEXT &X 10,000, 000 *37H A 30,000
EOMAIEE (Ot=HY) X 30,000 30,000 0
401 Al&HILLCHYI 30,000 30,000 0
01 Al&H] 30,000 30,000 0
QUEHTAIES(It=Y L)L X
50,0002 * 100m*6IH A 30,000
2FH g 1Y 60,000 125,000 265,000
405 XHAHE SH 60,000 125,000 265,000
01 KL ESEFEH 60,000 125,000 265,000
OMEDIAZAIH2YE IR (1EELDT)
20,000, 000! *1CH 20,000
OMEoIAZ A2 Jl 2
40,000,000 = 1CH 40,000
ZletA MAEd 2 10,000 112,000 A 102,000
405 XHAHE SH 10,000 112,000 A 102,000
01 KL SEFESH| 10,000 112,000 A 102,000
OEZZAl HAD| 10,000, 000 1A! 10,000
2R BE 3,069 3,069 0
A EE =2 3,069 3,069 0
101 Q1244 3,069 3,069 0
10 JIZH22XUSEES 3,069 3,069 0
OZ=& HRBE =X 3,069
— QI 4] 34,0902 x 12 »90 3,069
2T Xz 2,358,827 1,104,000 1,254,827
= 368,000
= 1,990,827




S AL WS
A

NB: C2AM 22(+2LDS/E2)
ool 2c Sx CCR-ED
_ _ _ HEC
DA - EH O (5) - HRAIY - HH2 0l & 2 e HDS2
-z dFNSF(UHX~UE) 736,000 644,000 92,000
= 368,000
= 368,000
201 NEHLR0Y 736,000 644,000 92,000
2 368,000
= 368, 000
01 Al&Hl 595,306 639,942 AN44,636
ORT5EH (AT ) 42T BT o
SO EFALE (3,761,306,000& x14A! )x15.8271% 595,306
= 368,000
o 227,306
02 22l 136,057 0 136,057
OZE58d(UX~UE) =3 824
2 AL
3,902,000,0002 *(6.19/100)*56 . 3304% 136,057
03 Al&20iYI 4,637 4,058 579
ORT5H (AT ) 42T FIBE2 o
=H2 AL
3,902,000, 0002 *(0.36/100)+33.01% 4,637
T E9S M AFARW~GEILZE B E 1,000,000 0 1,000,000
401 AEBIZL20iY] 1,000,000 0 1,000,000
01 Al&b| 993,700 0 993,700
ORTISH(QE~Ha2l) C2 & BB
At 993,700,000& *1.0km 993,700
03 A&y 6,300 0 6.300
OTEISH (HE-HAEE o THBA
1,000,000, 00021 %(0.63/ 100) 6,300
N2, sHEZZ)MES AL 622,827 0 622,827
401 A&BIZL20iY] 622,827 0 622,827
01 Al&b| 618,100 0 618,100
QUL (2E, sHESZ)M, 2LAY AA|
HdHEY 600,000,000%*(3.35/100) 20,100
OZLHID D HABA 2,000,008 72 144,000
O2220 WEHIM=SA 2,000,000& »77m’ 154,000
022D DIHLSA 2,000, 0002+ 108 216,000
Oot0lw W SIS At 2,000,000& *42m’ 84,000




S AL WS

B CoAd 22 (AaUDE/C2)
e (crol a2
SA - EH . S(E) - NEAY - B Ofl A 0 SSa HR=Z
03 Al&20iY] 4,727 0 4,727
O2EID D2 WAZA
144,000, 0002 (0.81/100) 1,167
OS92D DNLZA
154,000,000 x(0.81/100) 1,248
O W= A
216,000,000 %(0.72/100) 1,556
051011 DMHAZA
84,000, 00021 %(0.9/100) 756
T T AIEAS 1,967,862 1,863,000 104,862
MAM~22t 2 S E 1,670,000 1,361,000 309,000
401 AEBILE0Y 1,670,000 1,361,000 309,000
01 Al&H| 1,663,988 1,354,875 309,113
OXA-2U2 BT ST A (2Kn)
1,663,988, 0003 =14 1,663,988
03 Al&20iY] 6,012 6,125 A 113
OXM-2U2 2E 2T H
1,670,000, 000& *0.36% 6,012
S0 NYUZ HEZSAH 120,000 100,000 20,000
401 Al&EHILL200H] 120,000 100,000 20,000
01 Al&H] 120,000 99, 100 20,900
OZ0d ez ZTEHZBAH
400,000, 000& x0. 30km 120,000
cemy =i 8y 176,362 400,000 A223,638
201 AEBI220 176,362 400,000 £223,638
01 Al&H| 176,362 400,000 N 223,638
OEZJ|I2HEEE 176,362,000 * 14l 176,362
TEAE 29 I8 1,500 2,000 A500
202 O4Hd| 1,500 2,000 A500
ENEE 7,500 2,000 7500
OSAHAHI 1,500,000& 1,500
TAHE(ZEL XN FHL/XSL Al 15,663,310 10,081,600 5,581,710
g 13,400,000
= 2,263,310
LABENL 2,714,000 2,786,000 ANT72,000
rag 1,900,000
2 814,000




SN ALDED
o CANE(ZELXANL/NSLTAI)

el QXIEENY (el @)
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
QX SEMHL A 2,714,000 2,786,000 A72,000
s 1,900,000
= 814,000
401 AIEHIL RO 2,714,000 2,786,000 AT72,000
= 1,900,000
2 814,000
01 A&l 2,701,770 2,775,970 AT4,200
02009 XN (Al&HI) 2,701,770
—2009E XIJHL(tHH)
678,082,000 * 1A 678,082
s 478,300
o 199,782
—2009¢ QXML (RSH)
2,023,688,000& * 14! 2,023,688
s 1,421,700
o 601,988
03 Al&=0Hdl 12,230 10,030 2,200
O20092 R H & AHS (R CHEI) 12,230
—2009E XIHL(tHH)
683,000,000% *(0.72/100) 4,918
—2009¢ QXML (RSH)
2,031,000,000€ *(0.36/100) 7,312
N e g=) = 11,160,000 5,948,000 5,212,000
= 11,000,000
= 160,000
QAEARE S 2O B A 8,000,000 4,148,000 3,852,000
s 8,000,000
401 Al&HIZ =20 8,000,000 4,148,000 3,852,000
s 8,000,000
01 Al&HI 7,808,400 3,970,590 3,837,810
O~ o2t E2IHA
136,989.46& x57,000m" 7,808,400
P 7,808,400
02 Zeltl 171,600 123,510 48,090
OQAEHaZ T4
20,000, 000,000& *5.72/100+(30/200) 171,600
s 171,600
03 AIZ=C0HHI 20,000 53,900 233,900




SN ALDED
B CANL(RELTANL/XSLEA)

CHol: X o @ E ) e (S92l
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
O a2t E2IHA
8,000,000, 000& *0.25/100 20,000
s 20,000
SX~&H2E SZ2IOHE S At 3,000,000 1,500,000 1,500,000
s 3,000,000
401 Al &BIZ20HYI 3,000,000 1,500,000 1,500,000
= 3,000,000
01 A&l 2,989,200 1,494,600 1,494,600
O X~&NH2 S22 4
48,212.9& x62,000m* 2,989,200
s 2,989,200
03 AIZ=RC0HHI 10,800 5,400 5,400
OEX~&N2t 24
3,000,000, 000& *0.36/100 10,800
s 10,800
ALEAl JI2HE =8 60,000 0 60,000
207 Ao 60,000 0 60,000
01 72249 60,000 0 60,000
OAHLETA HHMEZH HP 12,000,000& *53] 60,000
018 SAIAHEAE &I 100,000 0 100,000
401 Al &BIZL20HYI 100,000 0 100,000
01 Al&Hb| 100,000 0 100,000
Otf=& =l 20,000,000& x5A 100,000
SAAHEEZ 1,789,310 1,347,600 441,710
s 500,000
i 1,289,310
NEAHEI~AIEZ2E SAIJIE22 JH| 850,000 800,000 50,000
s 500,000
= 350,000
401 Al &HIZ204YI 850,000 800,000 50,000
s 500,000
= 350,000
01 A&l 850,000 794,240 55,760
ONFAHBI-AIF SADIR YT Y]
4,722,2223 *180m 850,000
s 500,000




SN ALDED
By CANL(ZELTANL/NALEAI)

CHel CAINEER (S92l
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2

i 350,000

SAHE 2% J2&3] 39,310 47,600 28,290

201 L3 37,310 45,600 28,290

01 AtER2teldl 34,310 23,760 10,550
Oget=ZH| 9,300,000 * 14! 9,300
OZHERAs 2F+Y 70,0003 »x21H #43] 5,880

70,0003 x47E %12 3,290
OzZelHe s AE23102
1,320,000& »2JH A *63] 15,840
03 A2 3,000 6,000 A3,000
OdEZIt POOLRIE EE3 X &
3,000, 000& *12 3,000
202 O 2,000 2,000 0
01 2ot 2,000 2,000 0
OSAA 2,000,000& 2,000
HEAH CANHEEZ A (2-2) 600,000 0 600,000
401 AIEHIZ R0 600,000 0 600,000
01 Al&HI 596,220 0 596,220
O&d TANHEEZZ(AZ2-2) HESA
4,258,714 *140m 596,220
03 AIZ=20HbI 3,780 0 3,780
O3 TAHEZZ2(L22-2) HE3A
600,000, 000& x0.63/100 3,780
A2 SAIEY HHIAY 300,000 0 300,000
401 AIEHIZ =0 300,000 0 300,000
01 Al&HI 297,840 0 297,840
OFHEZ QI HESA 4,254,857& x70m’ 297,840
03 A& =0 2,160 0 2,160
OFHEZ 21T HESA
300,000,000& *0.72/100 2,160
NEHY M (+=ELnE/HWENE - SFSIIE 3,455,241 3,521,375 A66,134
= 281,059
= 3,174,182
EY = FXMNE &5 107,543 85,202 22,341
FEXNEN =E 88,635 66,902 21,733
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SN HEDSD
Mo DSHY KM (+SLDS/HEDLS - SRSIIEH
o9 2Y R EGNE S (St5: &8 9)
5 o SIEN
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
101 Q12| 88,635 66,902 21,733
10 JIAMZ2HSES 83,635 66,902 21,733
OsgFINCERRIRY 82,635
—Jle3 34,0002 1802 +10%S 61,362
—ERaY 34,0002 %362 * 10% 12,273
=L L] 5,0002! %1802 *10% 9,000
O czod m=y 200,000%  10% +32 6,000
EUEFT 29 J1=2TH| 8,908 18,300 608
201 L2yl 8,908 18,300 608
01 ARl 11,700 11,300 400
ORE SH R 2Hl 5,008 33203 3,300
OSHEFL 8% KA 422 7Y
55,0002 %355 20} 3,300
O 2HEIX IXNAH R0
1002 *10%5 %3, 000% 3,000
O RSX L AL HSS2RNAR
1502 %105 +1,400% 2,100
;2 T2 7,208 7,000 208
OREAFANLES HIIA 100, 0002 %3074 2 3,000
OXNER BRsE S28 LETY 4,208
—2E2H 22021 +6,000% 1,320
S PIE: 1,7202%1,000% 1,720
~XSA ZIIZAA BT S LBE
2209 +5,307% 1,168
24UH B 2,446,640 2,194,128 252,512
= 281,059
2 2,165,581
NSO EH AT e M A B4 474,89 431,992 42,904
= 118,724
2 356, 172
307 BI2t0IH 474,896 431,992 42,904
= 118,724
2 356, 172
09 24ANSEZ 474,89 431,992 42,904




AN A8 NS
MM PNEMHH WH(ESLWE/HWNESLE - S5SIIE
ol 24X BX (ciel me)
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
ONMUsHEHAEI =HdE=A B A
118,724,000 x4 7| 474,896
T 118,724
= 356,172
ANUHsHEHATHE XA 169,923 150, 136 19,787
== 94,855
iy 75,068
307 QIZ2+tolA 169,923 150, 136 19,787
= 94,855
2 75,068
09 2xEHEXZ 169,923 150, 136 19,787
OANUsHEHAME XA
42,480, 7503 x4 =2 D| 169,923
< 94,855
= 75,068
SHEHA &ABAMZ AXEZAI 89 12,000 12,000 0
207 A FIHEH] 12,000 0 12,000
01 H3xs49H| 12,000 0 12,000
OSHEHA ABAS AXTA 8Y
200, 000& *60H = &1 x13] 12,000
2LUH RIIEXZ =2 1,654,861 1,600,000 54,861
307 QI2tolA 1,654,861 1,600,000 54,861
09 SxgHEXZ 1,654,861 1,600,000 54,861
OB£H |H2E3 X2
413,715,200 42 D| 1,654,861
AMNEESISXHHIBIAHOIA & X XIS 48,960 0 48,960
== 24,480
iy 24,480
402 QIZtXIE0| A 48,960 0 48,960
= 24,480
iy 24,480
01 QI2AX=2BEX 48,960 0 48,960
oulglAHol&E &X K&
81,600,000 =1A!x60/100 48,960
T 24,480
= 24,480
OHHEO0IEY HHIAS 50,000 0 50,000




AN AENSH
HH: WEHHE HH(+=sLunS/HENSE - EFSIIE)
&Rl 248 X CER:E
_ _ _ MEc
SA - EB . ER(EN) - MEAY - BAS 0 &b g HDE2
GAHEDIE ALY s 25,000
= 25,000
402 2I2tt=E0ld 50,000 0 50,000
= 25,000
= 25,000
01 BIAX=2E=x 50,000 0 50,000
O Holg &Edl K&
62,500, 000& * 14180/ 100 50,000
== 25,000
[ia 25,000
LNENSEHAXSA 36,000 0 36,000
S 18,000
= 18,000
307 g2iz2told 36,000 0 36,000
= 18,000
= 18,000
09 2=+=gHExS 36,000 0 36,000
OANEMBSEHARXH 18,000, 0002 *1CH 18,000
= 18,000
O2ANECANMSSHARXE 18,000,000 1 CH 18,000
WSHMAEES EX & 2l 901,058 642,045 259,013
WSHHALES & 734,736 629,000 105,736
401 AIEHIZ =20 734,736 629,000 105,736
01 Al&HI 730,300 625,157 105,143
OuSHEAILELX 730,300
— NS SHIESHUELE
891,000& 10071 £ 89,100
—USHMEX MBI LEINLE S
200,000& *1,00090 £~ 200,000
— XM e 2,000, 000& = 100Km 200,000
—0INEHSTANLLE 200,000 *100m 20,000
—HASZEAE (DAL ES 195,000
- A E (LA 10,000,000& 15 150,000
- B 3,000,000& *15= 45,000
—HOIHASZH HELAIFERE
200,000 * 13101 & 26,200
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SN AL DED
MM DEHH N (2SLDE/HEDE - SSIIEH
Col: DEUMAIMES X ¥ e (o &
_ _ SIEN
A -3 -H2A(SH) - HEAMY - BES O AF K 'oﬂ/'\_FOH Hlws2
03 Al&=Ch 4,436 3,843 593
ORENH AlLS 4X
704,109,0002! *0.63% 4,436
nsoel 29 Jl=34| 15,322 13,045 2,277
201 gty 8,822 5,545 3,277
01 ArR2el 8,822 5,545 3,277
oY &gy 8,822
—E=EHA 2Y2EZTY
100, 000! * 127 2 *2CH 2,400
R ETRAHARERY
737,000 *35| 2L 4,422
—HAPBFAS DN R
100! ¥2055*1,0000H 2,000
202 o1l 6,500 7,500 A 1,000
01 =2UHoItl 6,500 7,500 1,000
O 201t 6,500,0002! 6,500
nsoel 29 151,000 0 151,000
401 Al&HI LSO 20,000 0 20,000
01 A& 20,000 0 20,000
ORB&SHA To U TM
10,000,0002 *2CH 20,000
405 XtarE S| 131,000 0 131,000
01 XAUSEF S| 131,000 0 131,000
OLE=SHAN HX 131,000
— =S8R (2505) 78,000,0002 1CH 78,000
— =SS RH(162S) 53,000,0002 *1CH 53,000
SE ASIIH HE(SHSLM/5Y - 55) 7,393,220 5,056,524 2,336,696
z 3,154,000
= 333,250
= 3,905,970
SZE0S SSNLAY 3,462,000 1,888,000 1,574,000
7 2,424,000
= 259,000
= 779,000
Mo SENSTSWLAY 2,005,000 1,512,000 493,000
7 1,404,000




M HENSH
N ==
(=R I

Sel: seuE BENEAG T (Sl @ s
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
FYHA sE0SSEMLAL = 150,000

= 451,000

403 TXIEMSAH201H 2,005,000 1,512,000 493,000
s 1,404,000
= 150,000
= 451,000

02 BJ/Z2SOCHSHEAS H 2,005,000 0 2,005,000

Oz 2012 ZENY

2,005,000,000& 13 < 2,005,000
P 1,404,000
= 150,000
i 451,000

HRAU4AS SENSSEMNLAY 1,457,000 376,000 1,081,000
s 1,020,000
L= 109,000
i 328,000

403 XXIEHSA201H 1,457,000 376,000 1,081,000
s 1,020,000
= 109,000
= 328,000

02 ZBI/2SOCHSTHHAS B 1,457,000 0 1,457,000

Ospaas SE0l2 8N

1,457,000,000& 1& A 1,457,000
s 1,020,000
= 109,000
i 328,000

S JIBHEH| 742,500 867,500 A 125,000
s 594,000
& 74,250
= 74,250

S0t &It HIAY 453,550 453,750 A200
s 362,840
& 45,355
i 45,355

401 A& HIZL 2O 453,550 453,750 A200
s 362,840




S AL WS
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